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7 The perimeter of a rhombus is 40cm and the measure of an angle is 60°, ther
the area of it is —

u forwentor Y ufifer 40 St & i wtor Y wra 60° 7, T TRt ST @ -

1) 1003 cm?

W% 503 o *

3) 1603 cm?

(4) 100 cm?
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4 The mean proportional between (3+v2) and (12 -v32) is =

(3+V2) &R (12 -V/32) wrwea srqurt
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The average age of 9 students and their teacher is 16 yr. the average age of t ..,,___

first four students is 19 yr and that of the last five is 10 yr. The teacher's age is —

9 BTAT I Ik TITeTen <hi 3 AT 16 AT 3| Tget TR BTAT hY Sitwa o11g 19 T

? iR sifew aiwr Fr aw 10 ¥ 31 Prew A g -
a) 36 yr
Mb) 3yr

() 30 yr
(d) 28 yr




Marked price 1s 25% more than the selling price of the product and the profit earned on

selling 1s also 25%. If the difference between profit and the difference between cost

price and marked price is Rs 200, then find the cost price of the product?

3ifeRa o IeuTg o Tk e  25% S1frah # ofR arar W Sifia e ot 25% #
a3 7T T SR R NI Ao SR SR Ao o ofter T Sfar 200 TU B, A IS

T ARTT e AT 6?2
(a) RS 500
y (b) RS 640
(c) Rs 600
(d) Rs 700
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KL”“'} A garrison of 200 men has sufficient provision for 24 weeks. At the end of the firs
=

week, reinforcement of 80 men arrives and the ration per day of each man is then
reduced from 900 g to 750 g. For how many days longer can they hold out?
200 JEST 6T T S1hT W 24 THAT o (oT0 UATH ITTUT 3| T8t HHTE o 3id H, 80 67
3T AT AT @ TR a Ak safeh st e gfafeT 900 70T & wreet 750 T & At B
frar At Tw I ag T &2

(1)38 weeks

(2) 21 weeks
3) 138 days
(4) 128 days
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¢ 5% income of Ajay is equal to 15% income of Bunty and 10% income of Bunty is &=

equal to 20% income of Chotu. If income of Chotu is Rs 2000, then what is the total

income of Ajay, Bunty and Chotu?
AR HY 5% A hY 15% 3T % TR & IHR FE T 10% 1T BIE Y 20% A h
TR B a3 BIE H AT 7 2000 T, For orwr, ¢t 3R oig & Fer S m 32

(1) Rs. 7200
(2) Rs. 14000
(3) Rs. 5000

M) Rs. 18000
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Ifafe x+ o 2, then find the value of/AT AT R =

1
8x3 + —3

X




# A man travelled a distance of 61 km in 9 h partly on foot at the rate of 4 km/R.=

F
)

/R
)

and partly on bicycle at the rate of 9 km/h. The distance travelled on foot was
T A6 A 61 km R FH 9 HE A TA R, FO T WA 4 km/h B AR TS Th
ATSFReT A 9 km/h B 7 T At ATt Y T Uget fehat gt e by et 2

1) 12 km
2) 16 km
(3) 20 km
(4) 24 km




Mission Selection - SSC 2024

P invested Rs. X 1n a scheme for 2 year which offered simple at the rate of 15% per
annum and Q invested Rs. (X + 2500) in another scheme for same period of time, which
offered compound interest at the rate of 20% per annum. If from both scheme P and Q

got total interest of Rs. 32550, then find the value of X ?

P X X &. &t Fawr forar 3 2 arer o fore uen Fieer o 15% ufa aw i o & "remor
T | 3R Q 7 FTX (X + 2500) =t et foram wam srafer & fore wes s FisAT v,
e ufer anf 20% it & Tewa g sarr it Uvreww i g offt afd P 3 Q i
AT W HeT 6. 32550 T SATH TH F1T &, 7Y X T W 71 H1Rmr?

a) 41500
) 42500
(c) 40500

(d) 40000




KL”“"" A and B together can complete a piece of work in 12 days. They worked
together for 5 days and then A alone finished the rest work in 14 days. A

alone can complete the work in-
A 3R B U a1 12 31 3 U 1 O o A §1 IR 5 3w v s wm
forar siR R A T 14 TRAT & et Fr o R, A oraher st oy Ry oo

T GhdT -
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A mixture contain milk and water in the ratio 5 : 3, 20 It mixture taken out
and replaced with 20 It water now these ratios become 1 : 1. find the initial
quantity of mixture

forsror % ger &R uTt T Ut 5: 3, 20 Wi frgror Y 20 e U A IS

farar ST @1 o1 & SrFUTe 1: 1 81 ATaT ) Trerur Y yroegrdt AT S get Femd)
) 100 It

2) 40 It
(3) 60 1t

4) 30 It
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— 0, A man Purchase 2 goats in rupees 18000, first goat sold at 4/5 of the cost price amg_

second sold at S/4 of cost price and he gain of Rs. 900 Find CP of both
T SATGHT 18000 TUA | 2 Tl ohl TS AT &, TEET Tl AT Wed oh 4/5 TR A=A
SATAT & R A ARTA HeA & 5/4 T AT ST § ST 900 TUL T A1 ATH HLAT 81

T T DT 6T e ATA Y ?
8000, 10000

(2) 9000, 9000
(3) 12000, 6000

(4) 7000, 11000




The s1|mp'e 1‘nterest an! compoun! 1‘nterest !compoun!e! annua“y! an a Q

certam sum of money with a given rate for a period of 2 years are Rs. 2400

and 2600 The sum of money is —

HTYTOT SATS 3R Akl feg, SATS (AT wrshd ) 2 a9 st aratyr & ferg 2400

AR 2600 FTATA T AV TCAUT T Y -
W

2) 3600
(3) 2800
(4) 3500




7+ 212 b=+V7—2v12
Find a’+b° =?




B’s age 1s 6 years more than A. If the ratio of B’s age 9 years hence to C’s present age 1s 9 : 8 &

the present age of C 1s twice of A’s present age then what will be the age of B after 5 years.

B T AT A & 6 A tferens §1 afe 9 ot atrg B o 11 3R C Y T 3T T AT 9:8 B
HR C Y TAATT ATT A Y TART AT & AT ], AT 5 q6 A1g B A AT 4T A

(a) 18 years

(b) 25 years

» (c) 23 years

(d) 24 years

i




7 men and 6 women together can complete a piece of work in 8 days and work done by a woman

in one day is half the work done by a man in one day. If 8 men and 4 women started working and

after 3 days 4 men left the work and 4 new women joined then, in how many more days will the

work be completed

7 I69 AR 6 wierTd frerent o & ot 8 it § [ e Ak B s ww uide g uw R o
fora T T U OET R U o W feR Tg s w6t ottt #1 Afe 8 Uew o 4 wierd
HATIE Ht AR 3 37 718 4 7ow w1 B1g § ofR 4 78 wigend wnider € nd, ot s fran R
H W BN (a) 7 days

WX EVE
(c) 5.25 days

(d) 6.25 days
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e o The maximum light of a pencil that can be kept in a rectangular box of

dimensions 8 cm X 6 cm x V21 cm
TN L FIaTg h YTt T Y T T T o IR T 1 qenedt Rraeht

R 38ecm x6cem x V21 cm
Ma)u |

(b)33

(c) 12

d)8
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uf ABCD is a quadrilateral inscribed in a circle with center O. <

If Z COD =120° and ZBAC =30° then ZBCD is —
ABCD U& oS § M I Th Ja & sk e R vz 0 7
afe £ COD =120° 3R ZBAC =30° a7 ZBCD FATA

(a) 75°

o

(©) 110°
(d) 60°







